£es'T e LR S
[l = “q LILT Togre = q
$86°0 = ¥qog — ¥q 107 211’0 = %qog — g
(13 z So21URSI0 g sodtwnb

(F3/81D) 9I0AIp  soqnpe soe ogiE[al we 2yed ap
BU 2J€D Op 0391 OJUIWIPUII Op epmbI[ oesseifoy

(331/81D) 9I0Ale soqnpe soe oBSE[al WP 3JEI Sp
BU 2JED OP S0321J OjUSWIpUSL op EpmbI] OBSSAIFY

(sae309y aod g1p)
sooruedaQ soqnpy
ap eumQ ovdeordy :exsowy vpundog

(sxeoey zod g1D)
sooTUIINY oqnpy
ap ewpQ opdeordy :ensowy epungeg

AIX 0¥avVNd IIIX odavad

o 5 GRS S e R R TS e e e LT oy
280'0— I Sy
6L0°0—  0630— I £
LOTD RF0—  ¥180 1 e
180'0—  88T0 9800—  LLGO0— 1 %
9400 FB0'0— 00—  0ST0 290°0 T R I G D g e T L%
0010 LE0°0 SIT'0—  2€0°0— 200 8910 5 - T R e e thie
980°0 0300 L00==4" OL0i0= "= [Q0E10 SpeniDE agzln, I L se e %

;vﬁ xuﬂ _.uﬁ _Lum m.Mm _A,Mﬂ NMﬂ uMn

(soung sofexysg p1)
spAgLiep 9p sodnin snuy oedepiio) op sAdWIS AUIDIR0) erjsowy epundes

IIX 09avnd

2iAg



